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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
300 —— | VI_ETcl | : I
setVIl_ETc
o50 | —®— setVl_feRec Pt e ¢ A ' |
—0—  setVI_WN A \ |
200 4 —®— slSetVlI _‘Au_‘ 4 ‘l‘ 1
Y MOS0/ I000 000000
wl N . SN 2 o sl uw
- ’ \ o al ——0"" 1
- \ ! ’
- « ¥
50 = o y | |
7S - oe - 2o !
0 | !
0 10 20 30 40 50 60




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 Warning: col ['ECC’, 'FVIEC'] is missing

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

BriE) | EBIETK FD) | EE (EH/HK) | XK SRR

07:45 283 150.0 B5| TiHA@07:45 KENFERF (RFA1EREE)
08:30 283 150.0 R5| TiHAe08:30 KHEIEF (RAEHR)
09:15 283 150.0 Rg| FnHRe09:15 KENFEF (KAEEES)
10:15 283 150.0 Bg| ThHR@10:15 KENFEF (CRAEEES)
11:05 283 150.0 R5| TiHAe11:05 KRHERF (RAEHS)
11:50 283 150.0 Be| TiHfe11:50 REFTEF (KAERE)
12:35 283 150.0 Ag| ThHRe12:35 KENFEF (RAEEES)
13:20 283 150. 0 R5| TiHAe13:20 KRHIEF (RAEHS)
14:05 283 150.0 Be| TiHfe14:05 REEF (KBAERE)
14:55 283 150.0 Ag| ThHA@14:55 KENEF (KAEEES)
15:50 283 150.0 B5| THA@15:50 KENFERF (RA1ERER)
23t 3113.0 (110%) 1650. 0 32 FEKEC: 2080.0, PH: 5.6

FEIKECE (2370.0 vs 3610.0) RS
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P3-11_0, Day=54 (2025-05-26)
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P3-11

RriE) | BRI (D) | EME (EA/K) | XK R

07:30 294 150.0 | 1Rige07:30 Bzh (REEEE)
08:10 294 150.0 5| {BRige08:10 Bzl (GPMERE)
09:05 294 150.0 | {Ri%@09:05 Bz (REEESE)
09:55 294 150. 0 RS 1Ri&@09:55 Bz (REEESE)
10:35 294 150.0 RS Ri%@10:35 Bzl (REAERESR)
11:15 294 150.0 Bl Rige11:15 Bal (REERESE)
11:55 294 150.0 S| Rige11:55 Ba (REAERSE)
12:30 294 150.0 B Rige12:30 Bz (REAERE)
13:05 294 150.0 RS Ri%e13:05 Bz (REERSR)
13:45 294 150.0 B 1Rige13:45 Bzh (REERESE)
14:25 294 150.0 BS| 1Ri%e14:25 Bz CGREEESE)
15:10 294 150.0 S| 1Rige15:10 Bzh (REEER)
16:00 294 150.0 B {Ri&e@16:00 Hah (REAEHSE)
17:00 294 150.0 S| Rige17:00 Bz (REAERE)
2i3t] 4116.0 (14%) 2100. 0 32933 KEC: 2080.0, PH: 5.6
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P3-11

FfiE) | GEBIATI (7)) | EBE (EAH/HK) | XS EFE

07:25 294 150.0 RS {Ri8e07:25 Bz (REERSE)
08:10 294 150.0 S| {Ri&e08:10 Bal (REAEEE)
09:05 294 150. 0 B Ri&@09:05 Bz (REEESE)
09:55 294 150.0 BE| {Ri8009:55 Bzt (REERSE)
10:40 294 150.0 el Rige10:40 Bal (REAEESE)
11:25 294 150.0 el Rige11:25 Ba (REAERSE)
12:05 294 150.0 B Rige12:05 Bz (REAERSE)
12:45 294 150.0 S| 1Rige12:45 Bzh (REEESE)
13:25 294 150.0 B 1Rige13:25 Bzh (REEESE)
14:10 294 150.0 B 1Rige14:10 Bz CGREMEESE)
15:05 294 150.0 RS Ri%e15:05 Bz (REERSR)
16:10 294 150.0 B 1Rige16:10 Bzh (REAEESER)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

FEREHEME STMEAMEART (191.0 : 153.0), AIEEAT—@E XAHE5
ZRIA L PRIERE153. 0 ml.
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